Task 1 : Rephrase the sentences 

1. Thanks to open-space workspace, users can share available resources.

a) →  Open-space workspace enables users to share available resources .
b) → Open space workspace makes it possible for users to share available resources. 
2. Thanks to the openness, workers can communicate more efficiently.

3. Thanks to the lack of walls, colleagues can help each other immediately.

4. Thanks to increased collaboration, people work more efficaciously.
Task 2 : Find the odd-man-out each time and find a generic term for each category.
a. staplers – printers – overheard projectors – paper – fashdrives 

b. office – workspace – workstation – cubicle – furniture 

c. partition – plug – fence – wall – panel 

d. office equipment – layout – resources – utilities – materials
Task 3 : Choose the suitable word in bold each time. 
a. Open-plan / partitioned / enclosed offices enable employees to see and hear each other freely.
b.  Lay-out / Colleagues / walls  can turn to each other for advice or assistance 

c. In open workspace, no one has a open / communcal / separate office space.
d. Communal / personal / private spaces promote shared use of resources.


Task 4 : Find a suitable word to complete the sentences
a.  In an open-plan work …........................, there are no distinct rooms.

b. Interactions in an open-plan office space generally are more ….............. and informal. 
c. An open-plan space also provides greater …................... 

d. Having a single work space also may ….................. heating/cooling and electricity expenses.
e. Open workspaces promote shared use of resources, such as …............., copiers and staplers.
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